YCTHbIVN CYET

3anuwun uymncna.
11,13, 15 17, 19, 21, 23, 25

[1lpopornxu pan.



I IpounTan BeipaxeHU pa3HbIMHU
CII0CO0AMM U BEIYMCIIH:
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3amaua Ne 1.

7 M
10 om
10:2 mm
7-3 1M
1)10:2=5 (am)-pnuna 111 pP=2

2) 7-3=21 (gm)-anuHa IV
3) 10+7+5+21=43 (am)- P P=I+11+11+1V
OTBeT: 43 AM AnMHAa
bopatopa.
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10+7+10:2+7-3=43(am) '
1

17 22 5 2




3amaua Ne 2.

1) 93 =27 (p.)— CnHernaska
2) 12:2 =6 (p.) — UBeTuk
3) 9+12+ 27 +6 =54 (p) — BCero

OTBeT: 54 po3bl Bcero nocagunv MarsbiLln. }‘ N7\
3 4 1 5 2 .

9+12+9-3+12:2 =54 (p)- Bcero.

21 48 27 6
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CocraBb nporpaMmy aeuCTBHMI
U BbIYUCJIN:

| BapUaHT. 2 BApUAHT.

35:5-3+14:2-5-8-4=24 100-8-2:4-5-3-9+24= 77
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